									UCO/CE/6002(ECOAB)
B.Com. DEGREE EXAMINATION, APRIL 2016
III YEAR — VI SEMESTER
Elective — FINANCIAL MANAGEMENT
Time : 3 hours	    		   Max. Marks : 75
SECTION A — (10 × 2 = 20 marks)  
Answer any TEN questions
1. What do you mean by Financial Management?
2. State the objective of working capital Management.
3. Find out degree of operating leverage from the information given below:
EBIT  (2008) 	`50,000:		Sales (2008)	20,000 units
EBIT  (2009) 	`60,000:		Sales (2009)	28,000 units
4. From the following you are required to calculate Debtor Turnover ratio:
     							 `
Net sales 				18,00,000
Sales return			  1,00,000
Debtors at the end		  2,34,000
Bills receivable at the end	  1,66,000
5. Compute operating cycle from the following details
a. Raw materials 				2 months
b. WIP 						15 days
c. Finished goods				1 month
d. Average debt collection period 	2 months
e. Average payment period		45 days
6. The following information relates to Siddle Ltd.:
EPS			`10
IRR			18%
Cost of capital	20%
Payout ratio	40%
	Compute the market price under the Walter’s model.
7. What is bonus share?
8. Define Capitalisation.
9. What is meant by capital rationing?
10. What are the discounting factors to be used for computing Net present value if required rate of  return is 20% P.A for 4 years?
11. A project requires an investment of `5,00,000 and has a scrap value of `20,000 after 5 year. It is expected to yield profits after taxes and depreciation during the five year amounting to `40,000, `60,000, `70,000, `50,000 and `20,000 
      	Calculate the average rate of return on investment.
12. What is Pay-back period method?
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions
13. What are the basic financial decisions? 
14. Write short note on dividend policy in practice.
15.  (
[P.T.O.]
)Define optimum capital structure – Explain its essential feature.
16. X Ltd. has an EBIT of ` 4,50,000.  The cost of debt is 10% and the 
Outstanding debt is `12,00,000. The overall capitalization rate (ko) is 15% 
Calculate the total value of the firm and equity captalisation rate under NOI approach.
17. Rose Ltd. engaged in customer retailing. You are required to estimate its working capital requirements from the following data:
Projected annual sales 				`9,00,000
Percentage of net profit to cost of sales 	20%
 	Average credit allowed to debtors		1 month
  	Average credit allowed by creditors  		2 month
  	Average stock carrying (In terms of sales requirements) 2 and half months
Add 10% to allow for contingencies.
18. Initial Investment:			`1,00,000
Life of the asset:			  	 6 Years
Estimated net annual cash flows	 `20,000
You are required to calculate Internal rate of return.
19. Calculate discounted pay back period from the details given below:
Cost of project		: ` 6,00,000
Life of the Project 	: 5 years
Annual cash inflow	: `2,00,000 	
cut-off rate 			: 10%
 0.909, 0.826, 0.751, 0.683 and 0.620 respectively.			          
SECTION C — (2 × 15 = 30 marks)
Answer any TWO questions.
20. Godrej company sells goods in the home market and earns a gross profit of 20% on sales.  Its annual figures are as follows:				    `
	Sales								3,00,000
	Materials used						1,08,000
	Wages 							   96,000
	Manufacturing expenses				1,20,000
	Administrative expenses				   30,000
[bookmark: _GoBack]	Depreciation						   12,000
	Selling expenses						   18,000
Income tax payable in two installments of
	Which one falls in the next year			   30,000
	Additional information:
(a) credit given by suppliers – two months
(b) credit allowed to customers- One month
(c) lag in payment of wages – half month
(d) lag in payment of administrative expenses – one month 
(e) selling expenses are paid quarterly in advance
(f) raw materials and finished goods are in stock for one month
(g) cash balance estimated to be maintained at `30,000
You are required to prepare a statement of working capital requirements.
21. 	 Rank the following projects on the basis of 
		(a)	Pay back method
		(b)	Accounting rate of return method
	Particulars
	Year
	Project A
`
	Project B
 `
	Project C
`

	Investment 
Annual savings
	0
I
II
III
	30,000
13,800
13,800
13,800
	30,000
36,150
-
-
	30,000
-
-
46,827


		






Discount factor for the year I, II, III are 0.909, 0.826, 0.751 respectively.
22. An investment of `10,000 (having scrap value of `500) yields the following return :
	Year
	1
	2
	3
	4
	5

	CFAT
	4,000
	4,000
	3,000
	3,000
	2,000



	The cost of capital is 10%. Is the investment desirable? Discuss it according to NPV method assuming the P.V factors for 1st, 2nd, 3rd, 4th and 5th year 
	0.909, 0.826, 0.751, 0.683 and 0.620 respectively.
23.  What are the different forms of dividend?
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